£1(x)=—2#%x" 2 +Bx
f2(x)=0
x € [0:2]

Inhalt orientiert u. absolut:

A1=10.667 AZ=10.667
Drehmomente .

Mx=34.133 My=13.333
Rotationsvolumen:
Ux=£14.47 Uy=63.776
Schuwerpunkt :

50(1.25-.3.2)

.....................................................................




£1(x)=—2#%x" 2 +Bx
f2(x)=0
x € [1:21]

Inhalt orientiert u. absolut:

A1=7.3333 AZ=7.3333
Drehmomente .

Mx=27.067 My=11.167
Rotationsvolumen:
Ux=170.07 Uy=70.162
Schuwerpunkt :

5(1.5227,3.6909)

.....................................................................




£1(x)=—2#%x" 2 +Bx
f2(x)=0
x € [0:5]

Inhalt orientiert u. absolut:

Al=16.667 AZ=26.000
Drehmomente .

Mx=83.330 My=20.835
Rotationsvolumen:
Ux=523.58 Uy=130.91
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£10x)=x"3-12%x 2 +36%x
f2(x)=—3=x+28
x € [1:71]

Inhalt orientiert u. absolut:
A1=0 AZ=40.502

Drehmomente:

Mx=361.04 My=—64.80

Rotationsvolumen:
Ux=2268.5 Uy=-407.2

..............................................................................

..............................................................................

...............................................................................




£100)=x"3F-12%x" 2 +30%x-20
Fé (x)=—3=x+Z8-20
x € [1:7]

Inhalt orientiert u. absolut:
A1=0 AZ=40.502

Drehmomente:

Mx=361.04 My=—64.80

Rotationsvolumen:
Ux=2268.5 Uy=-407.2

...............................................................................




£10x)=x"3-12%x 2 +36%x
F2(x)=—3=x+Z8
x € [1:71]

Inhalt orientiert u. absolut:

A1=0 AZ=40.502
Drehmomente .

Mx=361.04 My=-64.80
Rotationsvolumen:
Ux=2268.5 Uy=—407.2
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